AR ELE SRS

(HFBMZR B AR2011)
E3EER X BERS 4HBFAS2A R IR
RA %) XEEAR () YEEAZ () ZFa () BAEE m)
4-1 61425.720 4135. 656 119.737
4-2 61479. 597 4133.279 119. 528
4-3 61479. 927 4169. 239 117. 294
4-4 61492. 571 4255.270 115. 602
4-5 61456. 073 4262. 123 119. 711
4-6 61471. 850 4293. 447 119.610
4-7 61427. 329 4298. 680 119. 795
4-8 61368. 658 4310. 723 119. 537
4-9 61360. 529 4319. 036 116. 111
4-10 61362. 145 4266. 662 119.018
4-11 61353. 617 4203. 996 119. 348
4-12 61356. 630 4142.900 119. 837
4-4-1 61474. 467 4264. 806 117.718
4-4-2 61501. 665 4291.101 114.639
4-5-1 61478. 314 4213.135 115.410
4-5-2 61438. 095 4188.016 119. 589
ERERAR 2019511298 BEAE 8HRZ mEE I =




#R 12500

262-15-02

272-49-34 11

/\ 10E82

sEmE | g

tgEE | tepEm | EER |
mERER | 0 | THETREEES HASHAREERS

#H mE |




BHAFE

2019/06/11
A R 10A35 B=C=P x & 2Y @R
S 1.450 m #HE e 1.450 m £ B & 1IJIMA
pil| 25 GPT-9005AC = o] 19.0 °C = £ 1007.0 hPa
Al z3No. 603196 FE R m K[RMIE +5.5 ppm
B4R I ETEZ 10:04 RETEER m
B 2 F &R 8 & B #& &8 KTEH
= K & y= I : | T
BB 5 B £ kA R g 2 £ 2 90
0 r 19 10E82 0-00-00 0-00-00 0-00-00
2 1 4-1 102-36-10 102-36-10 25 -5 20 0 102-36-18
I 2 1 4-1 282-36-00 102-36-15
19 10E82 179-59-45 0-00-00
920" | 19 10E82 269-59-55 0-00-00
2 11 4-1 12-36-20 102-36-25 45 -5
r 2 1 4-1 192-36-20 102-36-20
19 10E82 90-00-00 0-00-00
i il BB nEm 2,5 # =
m o ’ ” ” o ’ ”
r 9 10E82 1. 450 89-49-30 5 2z= 179-38-55
| 9 10E82 270-10-35 Z= 89-49-28
360-00-05 o= 0-10-32
r 1 4-1 1. 450 90-03-25 2 z= 180-06-40
I 1 4-1 269-56-45 z= 90-03-20
360-00-10 a= -0-03-20
s oz UER — A B Ty hA kv P AR
: % I C) ) 3) @ & E B E(EH)
m m m m m mm mm m
9 10E82 1.450 159.537 159.536 1 1 159. 536
9 10E82 159.536 159.536 0
11 4-1 1.450 77.479 77.479 0 1 77. 480
11 4-1 77.480 77.480 0



BHAFE

2019/06/11
pi(| =11 4-1 B=C=P x g =Y ®E
BHE i 1.450 m BHE e 1.450 m £ A & IIJIMA
pil 25 GPT-9005AC = o 19.0 °C = £ 1007.0 hPa
sB128No. 603196 B ES m K[RMEIE +5.5 ppm
ERRAESZ 10012 wTEE 10014 R 585 4 m
B 2 F# =R R f& B B g
= K 4t A bl T
B OB =2 B & ohis =R g = = (8B
0 r 1 1 10A35 0-00-00 0-00-00 0-00-00
2 12 4-2 166-52-35 166-52-35 75 -5 15 5 166-52-41
| 2 12 4-2 346-52-35 166-52-40
1 1 10A35 179-59-55 0-00-00
90° | 1 1 10A35 270-00-00 0-00-00
2 12 4-7 76-52-45 166-52-45 90 O
r 2 12 4-2 256-52-40 166-52-45
1 1 10A35 89-59-55 0-00-00
i B PR BB nEm 2,5 # =
m o 14 ”n ” o 4 ”
r 1 10A35 1. 450 89-56-55 5 2 7= 179-53-35
| 1 TR Rt D =D KHE 270-03-20 Z= 89-56-48
360-00-15 o= 0-03-12
r 12 4-2 1.500 90-10-10 2 7= 180-20-10
| 12 4-2 269-50-00 Z= 90-10-05
360-00-10 a= -0-10-05
R e A E BB by FA by R BEERE
S BESE ) " 3) @ &% % 2 (EH)
m m m m m mm mm m
1 10A35 1.450 77.480 77.480 0 0 77. 480
1 10A35 77.480 77.480 0
12 4-2 1.500 53.935 53.935 0 0 53.935
12 4-2 53.935 53.935 0]



BHAFE

2019/06/11
pil R 12 42 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BRtAREZI  10:20 BTzl 10:25 REHETEL m
B 2 F &R 8 & B #& &8 KTEH
= JK 4t £ A T
m B = B £ k¥R "R g g 2 2 8B
r 1 11 4-1 0-00-00 0-00-00 0-00-00
2 13 4-3 271-59-50 271-59-50 105 -5 20 10 271-59-58
2 13 4-3 91-59-45 271-59-55
1 1 4-1 179-59-50 0-00-00
1 11 4-1 270-00-00 0-00-00
2 13 4-3 182-00-00 272-00-00 125 5
2 13 4-3 2-00-00 272-00-05
1 11 4-1 89-59-55 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
11 4-1 1. 450 89-50-00 10 2z= 179-40-00
11 MERERO -0 E 270-10-00 Z= 89-50-00
360-00-00 o= 0-10-00
13 4-3 1. 500 93-33-20 2z= 187-06-30
13 4-3 266-26-50 Z= 93-33-15
360-00-10 a= —-3-33-15
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
11 - 1.450 53.935 53.935 0 1 53.935
11 53.934 53.934 0
13 1.500 36.036 36.037 1 1 36. 036
13 36.036 36.036 0



BHAFE

2019/06/11
pil B 13 43 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BAtAEEZI  10:29 BTzl 10:32 REHETEL m
2 & R s & & B 8 KTEH
= JK 4t £ A T
g = =B £ k¥R "R g g 2 2 8B
r 1 12 4-2 0-00-00 0-00-00 0-00-00
2 14 4-4 172-09-50 172-09-50 105 -5 10 10 172-09-55
2 14 4-4 352-09-50 172-09-55
1 12 4-2 179-59-55 0-00-00
1 12 4-2 270-00-00 0-00-00
2 14 4-4 82-09-55 172-09-55 115 5
2 14 4-4 262-09-50 172-10-00
1 12 4-2 89-59-50 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
12 4-2 1.500 86-27-00 5 2z= 172-53-40
12 E AR D - HERHE 273-33-20 Z= 86-26-50
360-00-20 o= 3-33-10
14 4-4 1. 500 91-07-00 2z= 182-13-45
14 4-4 268-53-15 Z= 91-06-53
360-00-15 a= -1-06-53
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
12 - 1.500 36.036 36.036 0 0 36. 036
12 36.036  36.035 1
14 1.500 86.982 86.982 0 1 86. 982
14 86. 981 86. 981 0



BHAFE

2019/06/11
pil B 14 44 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BRtAREZI  10:36 ®’TEzl 10:39 REHETEL m
2 & R s & & B 8 KTEH
= JK 4t £ A T
g = =B £ k¥R "R g g 2 2 8B
r 1 13 4-3 359-59-55 0-00-00 0-00-00
2 15 4-5 267-43-20 267-43-25 55 -5 0 0 267-43-28
2 15 4-5 87-43-25 267-43-30
1 13 4-3 179-59-55 0-00-00
1 13 4-3 269-59-55 0-00-00
2 15 4-5 177-43-25 267-43-30 55 -5
2 15 4-5 357-43-20 267-43-25
1 13 4-3 89-59-55 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
13 4-3 1.500 88-53-25 0 2z= 177-46-30
13 E AR D - HERHE 271-06-55 Z= 88-53-15
360-00-20 o= 1-06-45
15 4-5 1. 500 83-41-20 2z= 167-22-20
15 4-5 276-19-00 Zz= 83-41-10
360-00-20 o= 6-18-50
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
4-3 1.500 86.982 86.982 0 1 86.982
4-3 86. 981 86. 981 0
4-5 1.500 37.367 37.367 0 1 37. 367
4-5 37.366 37.366 0



BHAFE

2019/06/11
pil m 15 45 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BRtAREZI  10:44 BTzl 10:48 REHETEL m
2 & R s & & B 8 KTEH
= JK 4t £ A T
g = =B £ k¥R "R g g 2 2 8B
r 1 14 4-4 0-00-00 0-00-00 0-00-00
2 16 4-6 73-54-00 73-54-00 15 -15 0 10 73-54-08
2 16 4-6 253-54-05 73-54-15
1 14 4-4 179-59-50 0-00-00
1 14 4-4 270-00-00 0-00-00
2 16 4-6 343-54-10 73-54-10 15 -5
2 16 4-6 163-54-05 73-54-05
1 14 4-4 90-00-00 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
14 4-4 1.500 96-19-05 5 2z= 192-37-55
14 R FAEEE D - HERHE 263-41-10 Z= 96-18-58
360-00-15 a= -6-18-58
16 4-6 1. 500 90-09-55 2z= 180-19-40
16 4-6 269-50-15 Z= 90-09-50
360-00-10 a= -0-09-50
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
14 - 1.500 37.367 37.367 0 1 37. 367
14 37.366  37.366 0
16 1.500 35.077 35.076 1 0 35.077
16 35.077 35.077 0



BHAFE

2019/06/11
pil = 16 4-6 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BAsAEEZ|  10:53 ®’T8Zl 10:56 REHETEL m
2 F = 2B T &8 F # KTEH
= K T 4 £ Al T e
g = =B £ k¥R "R g g 2 2 8B
r 1 15 4-5 0-00-00 0-00-00 0-00-00
2 17 4-7 290-01-25 290-01-25 65 -15 15 15 290-01-36
2 17 4-7 110-01-30 290-01-40
1 15 4-5 179-59-50 0-00-00
1 15 4-5 270-00-00 0-00-00
2 17 4-7 200-01-40 290-01-40 80 0
2 17 4-7 20-01-35 290-01-40
1 15 4-5 89-59-55 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
15 4-5 1.500 89-50-25 5 2z= 179-40-25
15 RO -0 E 270-10-00 Z= 89-50-13
360-00-25 o= 0-09-47
17 4-7 1. 500 89-45-55 2z= 179-31-30
17 4-7 270-14-25 Z= 89-45-45
360-00-20 o= 0-14-15
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
4-5 1.500 35.077 35.077 0 0 35.077
4-5 35.077 35.077 0
4-7 1.500 44.835 44,835 0 1 44 834
4-7 44.834 44 833 1



BHAFE

2019/06/11
pil R 17 47 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BAsAEFZI  11:00 BTzl 11:04 REHETEL m
2 F = 2B T &8 F # KTEH
= K T 4 £ Al T e
g = =B £ k¥R "R g g 2 2 8B
r 1 16 4-6 0-00-00 0-00-00 0-00-00
2 18 4-8 175-06-05 175-06-05 20 -10 20 10 175-06-15
2 18 4-8 355-06-00 175-06-15
1 16 4-6 179-59-45 0-00-00
1 16 4-6 270-00-00 0-00-00
2 18 4-8 85-06-20 175-06-20 40 0
2 18 4-8 265-06-20 175-06-20
1 16 4-6 90-00-00 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
16 4-6 1.500 90-14-20 5 2z= 180-28-30
16 E AR D - HERHE 269-45-50 Z= 90-14-15
360-00-10 a= -0-14-15
18 4-8 1. 500 90-14-55 2z= 180-29-35
18 4-8 269-45-20 Z= 90-14-48
360-00-15 a= -0-14-48
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
16 - 1.500 44.834 44.834 0 1 44.834
16 44,833  44.833 0
18 1.500 59.903 59.904 1 1 59.903
18 59.903  59.903 0



BHAFE

2019/06/11
pil = 18 4-8 B=C=P x & £Y #A
WS 1.500 m mHE e 1.500 m £ A & IIJIMA
Al 25 GPT-9005AC K @ 19.0 °C = £ 1007.0 hPa
A EsNo. 603196 FRWE SR m [RMWIE +5.5 ppm
BRtAREZ  11:11 ®’rezl 11:18 REHETEL m
2 & R s & & B 8 KTEH
= JK 4t £ A T
g = =B £ k¥R "R g g 2 2 8B
r 1 17 4-7 0-00-00 0-00-00 0-00-00
2 19 4-9 145-57-10 145-57-10 25 -5 15 15 145-57-16
2 19 4-9 325-57-00 145-57-15
1 17 4-7 179-59-45 0-00-00
1 17 4-7 270-00-00 0-00-00
2 19 4-9 55-57-15 145-57-15 40 10
2 19 4-9 235-57-25 145-57-25
1 17 4-7 90-00-00 0-00-00
RES == = s E
m o 14 ”n ” o 4 ”
17 4-7 1.500 89-45-30 5 2z= 179-30-40
17 IR FAEEE D - HhERHE 270-14-50 Z= 89-45-20
360-00-20 o= 0-14-40
19 4-9 1. 500 106-25-15 2z= 212-50-05
19 4-9 253-35-10 Zz= 106-25-03
360-00-25 a= -16-25-03
RED BiEs B O E OB OB vy bR v B BIEIREE
% == (1) (2) (3) (4) B = B = (Et9)
m m m m m mm mm m
4-7 1.500 59.904 59.904 0 0 59. 904
4-7 59.904 59.904 0
4-9 1.500 12.123 12.123 0 1 12.123
4-9 12.122 12.122 0



BHAFE

2019/06/11
A o= 19 49 B=C=P X & 2Y @A
S 1.500 m #HE e 1.500 m £ B & 1IJIMA
pil| 25 GPT-9005AC = o] 19.0 °C = £ 1007.0 hPa
Al z3No. 603196 FE R m K[RMIE +5.5 ppm
BASABS %I 11:24 ETHEZ 11:27 R STHEE m
B 2 F &R 8 & B #& &8 KTEH
= K & y= I : | T
BB 5 B £ kA R g 2 £ 2 90
0 r 1 18 4-8 0-00-00 0-00-00 0-00-00
2 20 4-10 317-24-35 317-24-35 60 10 25 5 317-24-36
I 2 20 4-10 137-24-25 317-24-25
1 18 4-8 180-00-00 0-00-00
920" | 1 18 4-8 269-59-55 0-00-00
2 20 4-10 227-24-30 317-24-35 85 15
r 2 20 4-10 47-24-30 317-24-50
1 18 4-8 89-59-40 0-00-00
i B OE TR BES nmm B, E #® B
m o ’ ” ” o ’ ”
r 18 4-8 1. 500 73-34-55 10 2z= 147-09-45
I 18 MREFERDO-OKHE 286-25-10 Z= 13-34-53
360-00-05 a= 16-25-07
r 20 4-10 1. 500 86-49-30 2z= 173-38-45
I 20 4-10 273-10-45 Z= 86-49-23
360-00-15 o= 3-10-37
s oz BES p— A % BB ty bRty M RS
: % S NV 3) @ B E B OE(FH)
m m m m m mm mm m
18 4-8 1.500 12.123 12.123 0 1 12.123
18 4-8 12.122  12.122 0
20 4-10 1.500 52.486 52.486 0 1 52. 486
20 4-10 52.485 52.485 0



BHAFE

2019/06/11
A o= 20 4-10 B=C=P X & 2Y @A
S 1.500 m #HE e 1.500 m £ B & 1IJIMA
pil| 25 GPT-9005AC = o] 19.0 °C = £ 1007.0 hPa
Al z3No. 603196 FE R m K[RMIE +5.5 ppm
BAsABE %I 11:33 ETHEZ 11:37 R STHEE m
B 2 F &R 8 & B #& &8 KTEH
= K & y= I : | T
BB 5 B £ kA R g 2 £ 2 90
0 r 1 19 4-9 0-00-00 0-00-00 0-00-00
2 2 4-11 170-28-50 170-28-50 105 -5 10 0 170-28-55
I 2 2 4-11 350-28-40 170-28-55
1 19 4-9 179-59-45 0-00-00
920" | 119 4-9 270-00-00 0-00-00
2 2 4-11 80-29-00 170-29-00 115 -5
r 2 2 4-11 260-29-00 170-28-55
119 4-9 90-00-05 0-00-00
i B OE TR BES nmm B, E #® B
m o ’ ” ” o ’ ”
r 19 4-9 1. 500 93-10-55 5 2z= 186-21-25
I 19 RFERD-OKHE 266-49-30 Z= 93-10-43
360-00-25 a= -3-10-43
r 21 4-11 1. 500 89-42-15 2z= 179-24-10
I 21 4-11 270-18-05 Z= 89-42-05
360-00-20 o= 0-17-55
s oz BES p— A % BB ty bRty M RS
: % S NV 3) @ B E B OE(FH)
m m m m m mm mm m
19 4-9 1.500 52.486 52.485 1 0 52. 486
19 4-9 52.486  52.486 0
21 4-11 1.500 63.253 63.253 0 0 63. 253
21 4-11 63.253  63.253 0



BHAFE

2019/06/11
A o= 21 41 B=C=P X & 2Y @A
S 1.500 m #HE e 1.500 m £ B & 1IJIMA
pil| 25 GPT-9005AC = o] 19.0 °C = £ 1007.0 hPa
Al z3No. 603196 FE R m K[RMIE +5.5 ppm
BASABE %) 11:43 ETEZ 11:46 R STHEE m
B 2 F &R 8 & B #& &8 KTEH
= K & y= I : | T
BB 5 B £ kA R g 2 £ 2 90
0 r 1 20 4-10 0-00-00 0-00-00 0-00-00
2 22 4-12 190-34-15 190-34-15 35 -5 10 0 190-34-20
I 2 22 4-12 10-34-10 190-34-20
1 20 4-10 179-59-50 0-00-00
920" | 1 20 4-10 270-00-00 0-00-00
2 22 4-12 100-34-25 190-34-25 45 -5
r 2 22 4-12 280-34-25 190-34-20
120 4-10 90-00-05 0-00-00
i B OE TR BES nmm B, E #® B
m o ’ ” ” o ’ ”
r 20 4-10 1. 500 90-18-15 0 2 z= 180-36-05
I 20 PR D - O KH 269-42-10 z= 90-18-03
360-00-25 a= -0-18-03
r 22 4-12 1. 500 89-32-45 2 z= 179-05-05
I 22 4-12 270-27-40 Z= 89-32-33
360-00-25 o= 0-27-21
s oz BES p— A B ty bRty M RS
: % S NV 3) @ B E B OE(FH)
m m m m m mm mm m
20 4-10 1.500 63.253  63.253 0 0 63. 253
20 4-10 63.253  63.253 0
22 4-12 1.500 61.180 61.179 1 0 61.180
22 -12 61.180 61.180 0



8 A F

P

2019/06/11
A o= 22 412 B=C=P X & 2Y @A
S 1.500 m #HE e 1.500 m £ B & 1IJIMA
pil| 25 GPT-9005AC = o] 19.0 °C = £ 1007.0 hPa
Al z3No. 603196 FE R m K[RMIE +5.5 ppm
BASAE %I 11:50 ETHZ 1153 R STHEE m
B 2 F &R 8 & B #& &8 KTEH
= K & y= I : | T
BB 5 B £ kA R g 2 £ 2 90
0 r 1T 21 4-11 0-00-00 0-00-00 0-00-00
2 1 10A35 158-59-25 158-59-25 45 5 15 15 158-59-19
I 2 1 10A35 338-59-15 158-59-20
1T 21 4-11 179-59-55 0-00-00
920" | 1T 2 4-11 270-00-00 0-00-00
2 1 10A35 68-59-20 158-59-20 30 -10
r 2 1 10A35 248-59-15 158-59-10
1T 21 4-11 90-00-05 0-00-00
i B PR BES nmm B, E #® B
m o ’ ” ” o ’ ”
r 21 4-11 1. 500 90-27-50 0 2z= 180-55-10
I 21 MRAFERDO-OKHE 269-32-40 z= 90-27-35
360-00-30 a= -0-27-35
r 1 10A35 1. 500 90-03-45 2 z= 180-07-00
I 1 10A35 269-56-45 z= 90-03-30
360-00-30 a= -0-03-30
s oz BES p— A % BB ty bRty M RS
: % S NV 3) (4) = = (FH)
m m m m m mm mm m
21 4-11 1.500 61.180 61.180 0 0 61.180
21 4-11 61.180 61.180 0
1 10A35 1.500 22.621 22.621 0 0 22.621
1 10A35 22.621  22.621 0



BHAFE

2019/06/11
pill =R 10A35 B=C=P X & £Y EAE
B/E i 1.500 m B/HE g 1.500 m A & TIJINA
pil| 7= GPT-9005AC = & 19.0 °C = £ 1007.0 hPa
AlZENo. 603196 2 E 2 m [RMIE +5.5 ppm
BABEZI  11:58 ETHI 12:02 A m
B 2 F &R 8 & B #& &8 KTEH
i= K F @ A A T
B ® = & & ¥ K R g g E g OB
0 r 1 22 4-12 0-00-00 0-00-00 0-00-00
2 9 10E82 196-10-30 196-10-30 70 -10 10 10 196-10-38
I 2 9 10E82 16-10-25 196-10-40
1 22 4-12 179-59-45 0-00-00
90" | 1 22 4-12 270-00-00 0-00-00
2 9 10E82 106-10-40 196-10-40 80 0
r 2 9 10E82 286-10-45 196-10-40
1 22 4-12 90-00-05 0-00-00
i B PR BES nmm B, E #® B
m o ” ” o ’ ”
r 22 4-12 1.500 89-56-40 10 2zZ= 179-53-05
I 22 IRFARRED - HERH 270-03-35 Z= 89-56-33
360-00-15 a= 0-03-27
r 9 10E82 1.500 89-49-50 2z= 179-39-15
I 9 10E82 270-10-35 Z= 89-49-38
360-00-25 o= 0-10-22
s oz UER — W OE B g Ty bR v M EERE
: 2 =0 3) W B £ B E (T
m m m m m mm mm m
22 4-12 1.500 22.622 22.621 1 0 22.622
22 4-12 22.622  22.621 1
9 10E82 1.500 159.536 159.536 0 0 159. 536
9 10E82 159.536 159.536 0



¢¢-69-19¢ 8¢-01-961 ¢8301 GEVO!l
819 ¢¢ Cy-87-14¢
GEVOlL | €18 611 | 00§ 00§ 6¢-€0-0- | 0¢9 ‘¢¢ ¢y 1ely 0LS 6¥€19 819 ¢¢ 17-8¥-1G¢ 61-65-8G1 GEVO!L ¢y
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